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GCSE Mathematics
Practice Tests: Set 2

Paper 1F (Non-calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser.

Instructions

» Use black ink or ball-point pen.
¢ Fill in the boxes at the top of this page with your name,
centre number and candidate number.
« Answer all questions.
¢ Answer the questions in the spaces provided
— there may be more space than you need.
» Calculators must not be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
¢ You must show all your working out.

Information

» The total mark for this paper is 80
+ The marks for each question are shown in brackets
— use this as a guide as to how much time fo spend on each question.

Advice
+ Read each question carefully before you start to answer it.
s Keep an eye on the time.
+ Try to answer every question.
s Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

QWW%ﬂM&MhuﬂS
Change 7800 grams into kilograms.
\\4‘3 :\ooﬂj Convert by = LOOO

F3c0 = looo = F. &

(Total 1 mark)

Comertng FO
Write 0.07 as a percentage ?

VBl
OO0F - 7 lhundeedhS
= -?;,o = ?‘:/U ............. j—-0/0

(Total 1 mark)

. . 1% DL.IMLU\.S
Write 7.8365 correct to 2 decimal places.

[}

G eunds fUU‘P

(Total 1 mark)

\\)eﬁo.’nﬁ& NS
Work out (=5)*

g &~ &5 = NC =

= &

(Total 1 mark)
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3.

Venn D:aarams

Here is a Venn diagram.

2)
(b) Write down the numbers that are in set A N 5.
(a2t §
R Y20 S
(1

(Total 3 marks)
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6.

Here are four digits.

8 2 4 3

Maripulattig Insegess

(a) (i) Use two of these digits to make the smallest possible two-digit number.

(ii) Use three of these digits to make the three-digit number closest to 300.

32—‘-} U away
224 \éauway

Here are four different digits.

5 17 9

(b) (i) Putone digit in each box to make the largest total.

You may only use each digit once.

TensS tmudt b b:%es-l \

QIS || 7

l

(11) Write down the total.
as
» ©
| £ 6
1 0

(Total 4 marks)
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(a) Write down the coordinates of point 4.

(b) On the grid, mark with a cross (X) the point (=3, 0).
Label this point B.
(1

(Total 2 marks)
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8.

Number Patteras

Here are some patterns made from squares.

— PR — L —

Bl I | | l

Pattern number 1 Pattem number 2 Pattern number 3

(a) The diagram below shows part of Pattern number 4
Complete the diagram for Pattern number 4

Pattern number 4

(1)
(b) Complete the table.
Pattern number 1 2 3 4 5 (S 3+ ? 9
Number of squares 5 9 13 I3 2] 25 2o 3 3
+4 ¢ bt He §))
(c) Find the number of squares used for Pattern number 10 L‘. I

Two numbers are added together. tackers
The answer is 15

Both the numbers are factors of 24

3 4
What are the two numbers? £ Y
2 o
2w | 24 |
DICLL'*wo ManloeAS ﬂ/\ﬁ.fo,.cld)_ 2 \S..., .. = 2+73
g

(Total 2 marks)
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2D Snage Prpetas

10. Make an accurate drawing of an equilateral triangle of side length 5 cm.
A STCL-QJ =N e

AL Orojas = o'

(Total 2 marks)
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11.

In*ﬁer Coleutoras

Here are three calculations.

The sumof [4and 19 The difference between 57 and 29

The product of 9 and 4

Which of these calculations has the biggest answer?

You must show how you got your answer. W
19 57

Sum = add I%4+@ = 33 7 29
33 2.9

Diflerence =Tane 5F -9 =28 '

Prduch= Mathipy | AX4 = =6

Cornclus e Prostucct off 4 andh L is tha lcugeeﬁ-,

(Total 3 marks)
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Tumetaddos

12, Here is a bus timetable from a Park and Ride car park to a town centre,

Car park Town centre
0740 0752
0800 0812
0815 0827

then every 15 minutes until
1815 1827

Sadia gets to the car park at 0745.
She catches the next bus to the town centre.

(a) What time should the bus get to the town centre?

Nekt bus ax ©%:00. Arrtves axt O872

....... @A) VI
1)
Here is the bus timetable from the town centre to the car park.
Town centre Car park

0803 0815 I

0835 0847 y

0902 0914 P

0920 0932 .

then every 15 minutes until
1920 [ 1932

(b) How many buses go from the town centre to the car park between 0800 and 10007
e +aklo Suaqests it toleS 12mmuwiet -Fvuw%—eum te Cws Padll

leaveat €9.3S omve ot OV Y4F 7 w5 on total arive

loave ct O+ SO aarioe vk B8 (2)

Je G owm Hetal Cooiik

Paul wants to leave the town centre after 1730.
He is going to catch a bus to the car park.

(¢) What is the time of the first bus Paul can catch from the town centre after 17307
oqQiezo
O : 3%
Q&R )T T MR BEIRE T T emeessa e
mrios M
O:20 (Total 4 marks)

- o o~
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13. A charity made an appeal for money.

The charity put the information shown below on a poster.

Hunger appeal
= £3 will buy 5 meals for one person.

*  £100 will buy lunches for 80 school children for 5 days.

£3 will buy 5 meals for one person.

(a) Work out the cost of one of the meals.
Give your answer in pence.

f'g - SwmmecdS
(‘:‘-S) %C).G_.O—:_ | ~weoq

£0.60 = 6o penee O
.......................................... p
(2)
£100 will buy Iunches for 80 school children for 5 days.
(b) Work out the cost of buying lunch for one school child for one day.
XO bfdg Sd&d s %(00
(=S) 8O wets  laay  EO
(:0) | R wewos lday  F2
2%
gﬁz—o‘,’g— (=% | &a L douy £0.25
otols
3)

(Total 5 marks)
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14.
«— 20 em > Diagram NOT
” 9 ¢ % accurately drawn
A‘_ ‘}:3‘ Ea C > D
B 8.6 cm
A4, B, C and D are points on a straight line.
AD =20 cm
AB=28.6cm
BC=CD
Work out the length of BC.
—To4ed =20 8.6 +2¢c+X = 20
(-%-6) AT = leif

| 21 = Y%

F=2) x = S

(Total 3 marks)
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Meela has a fair 6-sided spinner.
The sides of the spinner are numbered 2, 2, 2, 3, 3, 5.

Meela spins the spinner once.

(a) Which number is the spinner least likely to land on?

1)
(b) From the following list, choose the word that best describes the likelihood that the
spinner will land on 2.
impossible unlikely evens likely certain
% i ey B aile
Reouwrct & = T = Ever\S
1)
(c) Write down the probability that the spinner will land on 3.
[N I
P3)=RAarL& = = .3
)

(Total 4 marks)
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Res Buy

16. Tomis going to buy 25 plants to make a hedge.

Here is information about the cost of buying the plants.

Kirsty’s Plants Hedge World
£2.39 each Pack of 25

£52.50 plus VAT at 20%

Tom wants to buy the 25 plants as cheaply as possible.

Should Tom buy the plants from Kirsty’s Plants or from Hedge World?
You must show all your working.

Xarss Aaots Hedge World
£2.29 x2S FERSE WENS

v 2 51L& = afs

1\1003
Z10.50 = 20% (%
s wols = ’13‘*'1
f TI_ET_—S__- £52-S0+ 2%
4=3€ O = £52.50 +£(0.50 = ¥63
= £sa-FS

L T Showtd bty fram Kwshg Pords.

(Total 5 marks)
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17.  You can use this conversion graph to change between pounds (£) and dollars ().

F 3

Dollars (8) g

(]

0 I 2 3 # 5 6 7 8 9 1 11 12
Pounds (£)

(a) Use the conversion graph to change £5 to dollars.

Ella has $200 and £800
Her hotel bill is $600

Ella pays the bill with the $200 and some of the pounds.

(b) Use the conversion graph to work out how many pounds she has left.

s+ Pk $ecoo - $avo = Juoo

Juoo i £ (BE THE Cre@PH... = |

Wele s =§f , <so .

(x # CreD) (xs0) @)
2‘250 '—\ELI:OO (Total 5 marks)

. cast = LSO 4 €0o-£2s0 -ésgo
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18.

Pack of 9 |  Packof 4 |

toilet rolls | tollet rolls

£423 £1.96

A pack of 9 toilet rolls costs £4.23
A pack of 4 toilet rolls costs £1.96

Which pack gives the better value for money?

You must show all your working.

q rols = B3 e e = £(.46
(3Q) | oL = FOF () \ rot = £0M9
o.uq
Ot ) 196

q )T

"L e pacie of A s batkes vodue for meney.

(Total 3 marks)

IMA1 practice paper 1F (Set 2): Version 1.0 15



SPQUJ tD ence

‘-TLW‘\Q_.
/
S Fr
Dylan is driving from London to Newcastle, B
He will drive a total distance of 240 miles.
Dylan leaves London at 09:30
It takes him 1 % hours to travel the first 90 miles.
(a) Use this information to estimate the time Dylan will arrive in Newcastle.
You must show how you get your answer.
Rvsi ‘
ek Part cr(P ‘JW/\@d ¥ Toral ) ouray
S =60m
S = EOmp - e
D= o\DML-e,,&' D = 1 Oncles
1
- = oS
T %, & TE W
; = ke ZAeChttd o L boare
Sz 2 - 20wl | 53 Tl s DSt
T By éDMFh Q S EO M

- luwe = o9-voruhars = 12120 (3)

(b) Write down one assumption you made in your answer to part (a).
If your assumption is wrong, how would this affect your answer to part (a)?

T essaned. s Speed O3 senstont o Gomgh. Tor fle.

Gt Joae o TS skl Chanag 1100 tume = arvi/ed.
£, s e (1)
'T‘ flis ekt tle cate. (Total 4 marks)

IMAT practice paper |H (Set 2): Version 1.0 3



TFO'\S‘chrm ohens

20.
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Describe fully the single transformation that maps shape P onto shape Q.

o Rotanon A0°cleckinise.. Condn. (LD

(Total 3 marks)
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

2cm

Diagram NOT
accurately drawn
T em @ =
b (:4‘(\.
e
l B
Jem
i @ :
Tem
The diagram shows the cross-section of a solid prism.
AN The length of the prism is 2 m.
o -
i The prism is made from metal.
/‘1’,&9/
=
0
S

The density of the metal is § grams per ecm®

s

Work out the mass of the prism.

S

valiowe = CSwe ler ﬂ%uk

Az (O +®
O A S o campanclLheype M = TemxZen = eam
@) = Sem xloem = WO
2 AT = CEA
(,QV\LJHL = Zm, '2w-\ = Q—OO T
T P z_ o B
Vesbna. Sz e om X XOOcA = L EOOm
oo A D =M =S m= DXV
- @5 /C;-\E){ LJ«%C:C) v
- 3% Le(]’jj
(Total 5 marks)
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22.

® o 3:3(0)+S—— S

=t 9:3(1)4»5'—_8

w=2- \j-—3f2)1*§ = 1)

x=3% Y 23(H+ 3 = %

X |2l )2

j]—|]’i_}§|?|n[lq.

use fwe padken

(a) On the grid, draw the graph of y = 3x + 5 for values of x from -2 to 3

3

(b) Explain why the point (6, 24) does not lie on the line y =3x+5

(DC \.‘3\ = (67’2"'*-)
Suoshrhde X T6y=2F

\j:?;):_—-\-S'
2= +S 7
24 =13 +S 7

24 £23 . (Go) st o lne'2)
(Total 5 marks)
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23. Ramesh throws a biased coin.
The probability that the coin will land on a Head is 0.37

(a) Write down the probability that the coin will land on a Tail.

Swn of Probebldy = 1| | ©3% + 2 (i) = |

S = 0.6_7; ...................................
(-03%) P Chasl) = O-52 i

Ramesh is going to throw the coin 500 times.

b) Work out timate for th ber of ti that the coin will land Head. e
(b) Work out an estimate for the number of times that the coin will land on a Hea Qelah‘ue Sj

P(hecd) = © -2 F O 2FKS0O. .-
3 Y e 10 = 3F

' 0.2+ x SO0 = %?—“ﬂ' ................. '85‘ ......
i S (2)
l i =3 (Total 3 marks)

24,  Arwen buys a car for £4000 ) “ g
The value of the car depreciates by 10% each year. '-D E’( -

Work out the value of the car after two years.
End ot st yee | £4C00 ~ 0%
/o = F4woOOo £ w000 —ELO = +# 3600

G\dc:ae ?mo\jep/ £2.600 —10%/s
(0% = 260 (2600 -E360 = EZ+0

(Total 3 marks)
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5. There are |8 packets of sweets and 12 boxes of sweets in a carton.
The mean number of sweets in all the 30 packets and boxes is 14.
The mean number of sweets in the 18 packets is 10.
Work out the mean number of sweets in the boxes.
Totedia S | 2o xlue= W20

Toral ot pagklS| € x 10 = 18O

oan lbuce s 2LoTIZ = QCD—T—._
(Total 3 marks)
6. Write the following numbers in order of size. Stroadord Sevrana

Start with the smallest number.

0.038 = 10° 3800 = 107 380 0.38 » 107!
ES 0-3% ZC0 ©.0%8

@ @ @ @

(Total 2 marks)
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